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Determine the peak value of the output voltage for Fig.1 if the turns

ratio is 0.5. (20%)
Determine the output voltage for each zener limiting circuit in Fig.2.

(20%)
Determine Ig, I¢, Ig, Vgg, Vce and V¢ in the circuit of Fig.3. The

transistor has a fBoc = 150. (20%)
Determine Vg and Ic in the stiff voltage-divider biased transistor circuit
of Fig.4, if foc = 100. (20%)

For the JFET in Fig.5, Vgsiorry = - 4 V and Ipss = 12 mA. Determine
the minimum value of Vpp required to put the device in the
constant-current region of operation when Vgs = 0 V. (20%)
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